IHSAA GOLF TOURNAMENT - ELECTRONIC SCORESHEET [BOX1] Teams Scoring Summary [BOX 2]
Date: June 8, 2009 Boys: X Place School Score
Host School: Martinsville Girls: 1 Avon 294
Course: Martinsville Golf Club Sectional: X 2 Plainfield 306
City: Martinsville, In. Regional: 3 Martinsville 307
T 4 Greencastle 309
5 Brownsburg 310
Overall Individual Scoring Summary [BOX 3] 6 Cascade 323
Place Name School Score 7 Monrovia 329
1 Andrew Wegneg Avon 69 8 Tri-West 333
2 Ryan Reid Plainfield 72 9 Mooresville 340
3 Austin Winings Brownsburg 72 10 Cloverdale 345
4 David Porter Martinsville 72 11 Bethesda Christian 366
5 Rylan Porter Monrovia 72 12 South Putham 372
Indicate with double asterisk (**) when playoff determines winner. 13 North Putnam 399
14
Individuals Advancing Without A Team Summary [BOX 4] 15
Place Name School Score 16
1 Austin Winnings Brownsburg 72 17
2 Rylan Porter Monrovia 72 18
3 Wade Huber Greencastle 73 Indicate with asterisk (*) when fifth player's score
4 determines team's place.
5
The top three individuals and any ties for third place advance.
Team
Hole #| 1 2 6 9 | Out |10 11|12 ] 13| 14| 15| 16 | 17 | 18 In | Total Score
School Name Player Name Par 4] 3] 4 4 3| 4| 41 4] s 35| 4| 5| 4 3| 4| 4] 5| 3| 4 36 71
Avon Patrick Rodgers 1 4 3 4 5 4 6 4 5 5 40 4 4 4 3 4 5 4 2 4 34 74
Andrew Wegeng 2 3 3 4 4 3 5 4 3 5 34 4 4 4 3 4 4 5 3 4 35 69
David Janney 3 4 3 4 4 3 5 5 3 5 36 4 5 5 3 5 3 5 3 4 37 73
Jonathan Jozefowski 4 4 3 4 6 5 5 4 7 4 42 4 5 5 4 4 6 3 3 4 38 80
Tyler McGathey 5 4 3 6 5 3 4 4 3 5 37 4 4 6 4 4 5 5 4 5 41 78 294
Plainfield Ryan Reid 1 5 3 4 3 3 5 4 5 5 371 4 6 4 3 4 3 4 3 4 35 72
Miles Adams 2 4 3 4 51 3 5 5 5 6 40 4 5 5 4 4 4 4 3 5 38 78
Will Reno 3 4 3 4 4 4 5 4 4 6 38 3 4 5 3 4 5 5 3 8 40 78
Chris Broman 4 4 4 4 4 4 5 4 5 4 38 4 5 5 3 4 4 5 4 8 42 80
Jordan Arnold 5 5 4 5 5 3 4 5 5 5 41 4 4 5 3 4 4 5 4 4 37 78 306
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